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Note :– This paper is of Seventy (70) marks divided into

Two (02) Sections ‘A’ and ‘B’. Attempt the

questions contained in these Sections according to

the detailed instructions given therein. Candidates

should limit their answers to the questions on the

given answer sheet. No additional (B) answer

sheet will be issued.

uksV :µ ;g iz'u&i= lÙkj (70) vadksa dk gS] tks nks (02) [k.Mksa

^d* rFkk ^[k* esa foHkkftr gSA izR;sd [k.M esa fn, x,

foLr̀r funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA ijh{kkFkhZ

vius iz'uksa ds mÙkj nh xbZ mÙkj&iqfLrdk rd gh lhfer

j[ksaA dksbZ vfrfjDr (ch) mÙkj&iqfLrdk tkjh ugha dh

tk;sxhA
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Section–A

([k.M–d)

Long Answer Type Questions

(nh?kZ mÙkjh; iz'u) 2×19=38

Note :– Section ‘A’ contains Five (05) Long-answer

type questions of Nineteen (19) marks each.

Learners are required to answer any two (02)

questions only.

uksV :µ [k.M ^d* esa ik¡p (05) nh?kZ mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, mUuhl (19) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks

buesa ls dsoy nks (02) iz'uksa ds mÙkj nsus gSaA

1. Explaining Meade’s model, explain the extent to which

the assumptions of this development model can be applied

in the context of an underdeveloped country.

ehM ds ekWMy dh O;k[;k djrs gq, ;g Li"V dhft, fd bl

fodkl ekWMy dh ekU;rk,¡ fdl lhek rd v¼Zfodflr ns'k ds

lanHkZ esa ykxw dh tk ldrh gSa \

2. What do you understand by Golden age ? Explain this

concept of Joan Robinson’s model ?

Lo.kZ ;qx ls vki D;k le>rs gSa \ tkWu jkWfcUlu ekWMy dh bl

/kkj.kk dh O;k[;k dhft,A
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3. Analyse the role of agricultural sector in economic

development.

Ïf"k {ks= dh vk£Fkd fodkl esa Hkwfedk dk fo'ys"k.k dhft,A

4. Explain the planning techniques required for developing

economies.

fodkl'khy vFkZO;oLFkkvksa ds fy, vko';d fu;kstu rduhdh

dh O;k[;k dhft,A

5. Describe the role of market size in determining

economic development.

vk£Fkd fodkl ds fu/kkZj.k esa cktkj ds vkdkj dh Hkwfedk dk

o.kZu dhft,A

Section–B

([k.M–[k)

Short Answer Type Questions

(y?kq mÙkjh; iz'u) 4×8=32

Note :– Section ‘B’ contains Eight (08) Short-answer type

questions of Eight (08) marks each. Learners are

required to answer any four (04) questions only.

uksV :µ [k.M ^[k* esa vkB (08) y?kq mÙkjh; iz'u fn;s x;s gSa] izR;sd

iz'u ds fy, vkB (08) vad fu/kkZfjr gSaA f'k{kk£Fk;ksa dks buesa

ls dsoy pkj (04) iz'uksa ds mÙkj nsus gSaA
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1. Agricultural and industrial production are interrelated.

Explain.

ßÏf"k vkSj vkS|ksfxd mRiknu ijLij lEcfU/kr gSAÞ Li"V dhft,A

2. Explain the concept “Raise the baby, protect the child

and set the adult free” under the baby industry.

f'k'kq m|ksx ds vUrxZr ßf'k'kq dk ikyu djks] ckyd dh j{kk

djks] vkSj o;Ld dks Lora= dj nksÞ bl /kkj.kk dks Li"V

dhft,A

3. Write the potential threats from foreign capital.

fons'kh iw¡th ls gksus okys laHkkfor [krjs fyf[k,A

4. Mention the size, nature and causes of poverty in India.

Hkkjr esa xjhch ds vkdkj] izÏfr ,oa dkj.kksa dk mYys[k dhft,A

5. Comment on the following :

(i) Communication Resources

(ii) Environmental problems as a result of Economic

development.

fuEufyf[kr ij fVIif.k;k¡ dhft, %

(i) lapkj lalk/ku

(ii) vk£Fkd fodkl ds QyLo:i i;kZoj.kh; leL;k,¡
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6. What measures are necessary to be adopted for the

development of human capital ?

ekuo iwath ds fodkl ds fy, fdu&fdu mik;ksa sa dk viuk;k

tkuk vko';d gS \

7. Explain the economic importance of Rail transport.

jsy ifjogu dk vk£Fkd egRo crkb,A

8. Analyse the Harrod growth pathway with the help of a

diagram.

gSjksM o`f¼ ekxZ dk lfp= fo'ys"k.k dhft,A

**************


